I3Y-J

A{TMIRREES (EPD)
Z&#ES . JR-AI-21112E

orother

at your side

T —T ¥4t / BROTHER INDUSTRIES, LTD.

IJV-JRIBESANITIS A
—BHDEAT T T IIVIREHENE
FRETRBXEEEH2-2-1
https://ecoleaf-label.jp

19 MEER
Compact Color Inkjet All-in—One

MFC—-J6555DW

e

—

o

BENSREERE
m %A sl )
[RAAR S, TR, (EF. RS
HEmOBK, TEMLEK - Hx
BIR : MFC-J6555DW
-ESRARTFIZIY (h5-1A)
-ARE=E : 19.0kg. BFEAth : 3.4kg
-BRAAIRYAX (&K431.8x297mm)
-Super G344/
- BEhmEENRIAE
-HHR/BHR LAN
XARG(EACRALARIFTY
Euwabhtsk
I -T#MGAEE SURZENN IDEEES
TEL: 052-824-2511 (%) FAX: 052-821-5177

https://www.brother.co.ip/

ERES JR-AI-21112E
iEFPCRES PA-590000-AI-03
PCR% BERA LIRS (EE34R]
NS 20224 3H4H
WEE&I8E  202242H18H

REEA R S RF LRI
RELES JV-AI-21112E

EEEE%AIE 20278428178
PCRLE1—DsEfE
REBASE 201911H8H
RER iz EZ
(—HEHEEA D RT T T R EHEE )
B=BREIE*
NEMREEE AN 5

ISO14025(CE > EREENRUVT —HF DML U TA&REE
ORIEp m SR

*L AT LRI RITTEBEAANDIRIDBSE. R FT LB ZTD
EEEBORRIZE .

EixES : JR-AI-21112E


https://www.brother.co.jp/

IaJ-J IIV-JRIESANI OIS A
—BABEANY 2T T T IREHE S

o :::l—;—lg
Smans 24721%%2: (EPD) ERHBTHORBEE2-2-1
=ix&ES © JR-AI-21112E https://ecoleaf-label.jo
OSA1 ITYA D) & litER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 310 kg-CO2eq
[izdeale 0.22 |kg-S0O2eq
BRHE 0.013 | kg-Sbeq 6
= DEMETE Q% n QiR
BDEA-HIEEE aOEE-UY L
AER B =1y a5 OREMERE QHE O |omm- #ixEE| omm. uyron
SURZSH IPCC 2013 GWP 100a | kg-CO5eq | 3.1E+02 || 2.0E+02 | 1.5E+01 | 1.6E+01 | 3.6E+01 | 4.4E+01
ERMEAL kg-SO,eq | 2.2E-01 || 1.6E-01 | 1.8E-03 | 3.0E-02 | 1.1E-02 | 2.5E-02
=Nt kg-Sbeq | 1.3E-02 | 1.2E-02 | 4.0E-05 | 6.5E-05 | 7.3E-04 | 2.7E-05
@5AITYAIIA>NR> NUDREE QMBI R UE (CRAT D HEE
I5H
JEBATIREBIR 3.2E+01 kg 3 8 3.5E+00 kg
JEBATRE T RILF— 1.1E+02 kg Sus 8.2E-02 kg
BATIREEIR 2.8E+01 kg TIL=EZO A 1.2E-02 kg
BAORETR)LF— 2.2E+02 M] ZOMERE 5.4E-06 kg
SRKDHE 2.8E-01 m3 TSAFwvI 1.3E+01 kg
N 5.1E-02 kg
HSX 1.2E+00 kg
iR N 2.4E+00 kg
HELOREMR 1.1E4+00 kg
Z At 1.3E400 kg




IaJ)-7J IJY-JRIRSANI OIS A

jE== —RAE@EAT AT T IIVIEEREEE
517 IIRKRES (EPD) BT R BRBAE2-2-1
Bix&ES ¢ JR-AI-21112E https://ecoleaf-label.jo

OHERRICEY DEMHH

ERERBOEESZE (SFJA)

270>z (t“§;|"\7xﬁﬁ1’élﬁi) TETEFERAAR] : 5. XS : %48,0004%
EIAERMER/(F—>  ITUT No.1Fv— b, FRl ﬁﬁ‘fﬁﬁ(ii}aiﬂéﬁ( EENANE ¥ LIEe| e S

©-1.TDMDIRIZENETR
ARROMETERE EEBHROD > IRUAY REGS(FISO14001BEBHRTIHICTITONTVET,

OERUVEZRT—IDERT
IDEA v2.1.3 ROTIU—TJRESNIVITOYS ABRFEEAL v1.10 ZEA L.

® %

0> —FEEDHEE. PCREKLUVERE - EEMREZSRLUTIIZE,
OLLECDNTIE. BFE - EEMEICHREINERMER/UBSICUNBDHESNEH A
(ZBB5EURL : https://ecoleaf-label.jp/regulation/)
SixEs . JR-AI-21112E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

